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+ show interfaces | include is up| &3 &=

* show cdp neighbors <interface>
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O|Z0oi M3 E! show interface BHEE AIRELICIH RE|l= =2 U= ST E 7+ ClE{Ho|A0 =
Mg 2 F1 ot

High Input rate QIE{H|O|A 7} Al E|H CDP L|O|HE AFE 350 (AAEl A Q|x|of CHE RIT E &0l
gLC SAE ZIEE X2 FR XEE ZE5t0 EXIE &l EOHQAL:_

TCN(Topology Change Notifications) - & Z 0| A & d5t= SO 0|28 MHE F AIFLICH
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DistroSwitch#show interfaces | include is up|input rate
GigabitEthernetl/0/1 1is up, line protocol 1is up

5 minute input rate 1482600 bits/sec, 2739 packets/sec
GigabitEthernetl/0/2 1is up, line protocol 1is up

5 minute input rate 291658000 bits/sec, 366176 packets/sec <------------
TenGigabitEthernetl/1/1 is up, Tline protocol 1is up

5 minute input rate 1339000 bits/sec, 2614 packets/sec

DistroSwitch#show cdp neighbors gigabitEthernet 1/0/1

Capability Codes: R - Router, T - Trans Bridge, B - Source Route Bridge
S - Switch, H - Host, I - IGMP, r - Repeater, P - Phone,
D - Remote, C - CVTA, M - Two-port Mac Relay

Device ID Local Intrfce Holdtme Capability Platform Port ID

access Gig 1/0/2 158 S I (C9300-48P Gig 2/0/2 <-------—————-———-

<tfroot>

Di stroSwi t ch#show | oggi ng

*May 3 18:33:45.885: %SW_MATM-4-MACFLAP_NOTIF: Host 0cd0.f8dc.dc47 in vlan 1 is flapping between
*May 3 18:33:58.841: %SW_MATM-4-MACFLAP_NOTIF: Host 0cd0.f8dc.dc47 in vlan 1 is flapping between
*May 3 18:34:13.842: %SW_MATM-4-MACFLAP_NOTIF: Host 0cd0.f8dc.dc47 in vlan 1 is flapping between
*May 3 18:34:28.839: %SW_MATM-4-MACFLAP_NOTIF: Host 0cd0.f8dc.dc47 in vlan 1 is flapping between
*May 3 18:34:43.840: %SW_MATM-4-MACFLAP_NOTIF: Host 0cd0.f8dc.dc47 in vlan 1 is flapping between
*May 3 18:34:58.839: %SW_MATM-4-MACFLAP_NOTIF: Host 0cd0.f8dc.dc47 in vlan 1 is flapping between

port
port
port
port
port
port



access#show spanning-tree vian 1
Spanning tree instance(s) for vlan 1 does not exist.
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BPDU Guard - 2IE{H|0|A7} BPDU 7tE& ME K| &1 7t = 42 Em oA E
HIg g &g Lct.

Root Guard - YA o 2 AHA|A HEH0| /= Distrol] ZL - 0| 7|s0| M2 &= QIE T
O|AO0|M 42| BPDU £ 512 BPDUE & £ gi&LICt.
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Loop Guard - &g+*
A%, ALIX[Io|M siE RQUE{H[0|AE F2{510{ BPDUE H & F=4lst=X]

oM BPDUE A5t
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2E STP 7|52 THESHX| &8 & - ol bpdufilter trumps
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Storm Control(AE R[od) - EHLF S x| oA 1%2 A% - Cisco B IDCSCB5758

Ed AlLtE|20f CHEF CoPP & QoS= &5t X2 Y0l x| ef&LICH.


https://tools.cisco.com/bugsearch/bug/CSCvt85758
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